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I* Now, we are going to look at dividing 3 digit .numbers using
the same method.

The Bus Stop method:

How many times 637 +7 =91

does 7 go into 6?

It doesn't go into
6, therefore carry
the remainder of

6. [\
6 How many times
does 7 go into 63?

It goes into 63

1. 429 + 3 = times and has
no remainder.

2. 560 + 4 =
3.615 + 5 = How many times

does 7 go into 7?
L. To4L4 = 4 =

Once

5.288 + 3 =
6. 670 = 5 =
7. 488 + 2 =
8. 920 = 4 =
9. 363 + 3 =

10. 510 = 5 =

11. 504 + &4 =

12. 642 + 6 =



